B il

General Instructions :

R 5 ; :
ead the following instructions very carefully and strictly follow them :
(i) :

This question paper comprises 39 questions. ALl questions are compulsory.

(i) This question paper is divided into five sections — A, B, C, D and E.

(iii) ~ Section A - Questions No. 1 to 20 are Multiple Choice Questions. Each
question carries 1 mark.

(iv) Section B - Qu.esti-on.s No. 21 to 26 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should be in the
range of 30 to 50 words.

(v)

Section C - Questions No. 27 to 33 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should in the range of
50 to 80 words.

(vi) Section D — Questions No. 34 to 86 are Long Answer type questions. Each

question carries 5. marks. Answer to these questions should be in the range of
80 to 120 words. )

(vii) Section E — Questions No. 37 to 89 are of 3 source
assessment carrying 4 marks each with sub-parts.

(viii) There is no overall choice. However, an internal choice has been provided in

some sections. Only one of the alternatives has to be attempted in such
questions.

-based/ case-based units of

SECTION A

Select and write the most appropriate option out of the four options given for
each of the questions no. 1 to 20. There is no negative marking for incorrect
s ; 20x1=20

od ;f extraction of metals from their oxide ores

[ P.T.O.]
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2 Consider the tollowing chemieal equation :
p AL+ q H,0 s ALy Oy 4 8 H,

nn . ‘ ) . A
To balance this chemienl cquation, the values of ‘p’, ‘o, " and ‘s" must, e

respectively :

(A  38.2.2.1 @) 2,3,3,1
(O 2.3, ) 8,1,2, 2
3. Given below arc the structures of some hydrocarbons. Select the Lwo

structures which are related to each other from the given options :

| Tr? T ? ? T
@ H-0-0-0=C-H (i) H-C-C-C-C-H
O booHon
H 0 o
H—G—b—C—n 2
@ 4 | (v C1-0-C-C=C-H
H—$—H | H H H
H
(A) (i) and (iv) (B) (ii) and (iv)
A@ (ii) and (iii)” (D) (i) and (iii)
4. Choose the incorrect statement about the common reaction used in

hydrogenation of vegetable oils.
(A) It is an addition reaction.
(B) It takes place in the presence of nickel or palladium catalyst.

(C) The product contains only single bonds between carbon atoms.

(9/1’ t is an addition reaction which oceurs in the presence of an acid

catalyst.
5. Which of the given option represents a family of salts ?
() , NaCl, NagSOy, CasSO, _AB) - Ky80,, NagS0,, CaS0,
(©) NaNOj, CaCOg, NayCOy (D) MgSO0,, CuSO,, MgCl,

G’ # [ P.T.O.]
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(C)  Hibiscus
scus and papdy
7. The gr b (m Hibi
> growt ) Tibiscus ¢ i
&S g ph:: t:ft.hu pollen tubes towards ovule ’ cus and watermelon
*hototropism ) g ig an example of
(©) Geotropism (B) Hydrol.mpisn:l o
BT Chemotropism

8 Match C
’ olumn-I with C
. J()l & g
choices provided. umn-11 and select the correct option from i
) e

Column-I - : o B
- Column-11
\m .

a. S!t ~ . - . . . ~ o .
ite of fertilisation of egg with the sperm Vagi
Agina

b. Site of implantation of embryo (i Ut
4 erus

c.  Site of entry of sper i ? i
ract 'y perm into {he female reproductive (iii)y  Oviduct
d. Site through which the waste materials generated (iv)

by the developing embryo are removed

Placenta

(v) Cervix

(B) a-iii), b-(1), e-(v), d-(1v)

A)  a-(i), b-(1), c-(v), d-(iv)
()] a-(iv), b-(i1), c-(i1i), d-@) : (\D)/a—(iii), b-(i1), c-(1), d-(v) ~

entration in the areas of

9. The plant hormone present in greater conc

rapidly dividing cells is:
(A) Auxin B Cytokinins
(D) Abscisic acid

() Gibberellins
£ putrition is

observed in:

! 10. Parasitic mode 0 .
|
(A) Bryophyllum' ' (B) i %Scus
( Cuscuta (D) Helianthus
usc
1 face of a conves
» i o front of the reflecting S :
. 2 candle;' ?an;ele]i pla(f:'e?f 1the distance of the flame from the pole of th
mirror of 1oca . ‘ )
mirror 18 £ its ima e is form - D
J’A{ at infinite distance fro ht? m.pal s - ' i/ )
or at he princt :
@ b hind the mirr e
©) b hind the ™1 t a distant = ‘
distance v
v ’ [ p.T.0.1]

)  beb
#31/3/3* ' /b
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Select v v
12. jelect the correct statement from the following :

(A) The size of tl
e molecules of air 18 larger than the ‘,'/;Nl'.l(:nm,h of

vigible light.

( \ Th(‘ \’1\.\() 11’.—,\\‘ \]' S { ¢ f
I; as a \V“V('l(‘.n 'l.‘\ H ‘ A 15} er 3 ‘ €
Of re ] h‘ 1_hlv. \ )()UL I ) fimes I(!yli.f!' fl]ll“ t.h'] 4

) 7 U,
(©) When gunlight passes through the fine |);|rl,i(',lt-:—'. in air, they geatter

\ , . .
the blue (,0\0\11' of VlSl\)](‘, \ighl, more m'l.”nmy than I'Nl.
) The light of red colour 18 scuttered the most by fog or amoke.

18. In domestic electric cireuits, the colour of insulation covers of wires in the
cables of electric jron/electric toaster s goneml\y :

(A) red for live wire, green for neutral wire and black for €2 rth wire
\//(B)C “ red for live wire, black for peutral Wire and green for earth wire
(C) eveen for live Wire, black for neutral wire and red for earth wire
nd black for earth wire

D green for live Wire, red for neutral wire 2

produced inside a long straight current

enoid does not depend upon :

1o through the solenoid”

re flled inside the solenoid v

t abar m'agget ?

.« not true abou
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16.  Other than the abiotic components, which of the ¢

iven hiotic com ponents
are nof required to malk

Can aguarium with small herbivorous fishes a
self-sustaining aystom ?

(1) Aquatic plants and aquatic animalg
(i) Terrestrial plants and terrestrial animals

(i) Decomposers as bacteria and fungi

(iv)  Consumers as clown fishes and sea urchins
(A) (1) and (iv) B (ii) and (iii)
(C) () and (iii) (D) Gi) and (iv) ,

For Questions number 17 to 20, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given
below.

(A)  Both Assertion (A) and Reason (R) are true and Reason ( R) is the
correct explanation of Assertion (A),

(B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A)is false, but Reason (R) is true.

17.  Assertion (A) - Brass is prepared by first melting copper and then

K dissolving tin into it in a definite proportion.

Reason (R):  The primary metal of brass is copper.

18.  Assertion (A) : Use of Jute bags for shopping reduces pollution,
Reason (R):  Jute is biodégradable and its bag may ?Je reused as and
when needed.

19, Assertion (A) : In our actions of writing or talking, our nervous system
communicates with the muscles.

Reason (R):  Cranial nerves and spinal nerves form the peripheral
nervous system.
20. Assertion (A) : Magnetic field lines around a bar magnet never intersect
each other.
; : ic field produced by a bar magnet is a quantity
| ; Reason (R):  Magnetic P

that has both magnitude and direction. "

@ # [P.T.O.]
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NECTION 1y

Queslions no. 21 1 g
‘

6 are Ve v Shoyy A”'l“‘” I

“

VDO e atingg o

a1 (n) 1wt thao Ponsily) e nonreon  of Onergy recuired iy e Sinfiasil o
renction llluullnlu MY one witly o e Rl )
O
‘l)‘r \\ lHl' I HIIHI'I'\'(‘(' \v'“n” I'V"”"”" ",,',,”',; Q,'”,j,”h iy /:llll.‘* i
hentoed mn "l'.\' 'Hli“ll;( Lihy v (Hve haleviyeed thestriinal Yualion(y)
ol the PENClionn(u) 1y, 0CCHI(y), Vi
22 A chemieal compound ‘X', usod Lo hlogel, vinshed clothes iy laundry ug
well as to make (ll'illking Waler froe lrom gorme Identify "7 i 18 this
ull]”]““”d r(']”'(‘H(‘“l:(‘(I ? WI'“,(! ',l'“l ,“u"h“(l ”" ”’H V,’n,,;nn”:,“ u}l;“g V/HJ')
the chemical ecquation for (e reaction that, geeqrg, 2
23, State the main function of voing in human circulatory systesn Why do
they not need thick wallg 2 / 2
2. “Sex of the children ig determined by type of gex chromosome which they
inherit from their father,” Justify the statement,/ 2
6. (y) A student has difficulty in reading hig textbooks but csn read the
blackboard clearly while sitting in the last row. Name the defeet of
vision the student is suffering from. 1,iat tWo reasons due to which
this defect arises. Write the nature of the lenges required t correct
this defect. 2
OR
i ; light falling
b)  Draw a ray diagram to show the path of , ray of Ta |
i i ass prism
obliquely on one of the refracting faces of a triangular g
iati it. 2
and mark the angle of deviation on
*31/3/3* @ # [ P-T.O.]
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26, TFour resistors, each of resistance 2-0 €, are joined end to end to form a
squ:'n‘c ABCD_ as shown. Using appropriate formula, determine the
equivalent resistance of the combination between its two ends A and B. 2

2.0Q

SECTION C

Questions no. 27 to 33 are Short Answer Type questions.

27. State the !change that is observed when a China dish containing copper
powder is heated over the flame of a burner. Name the phenomenon

/ responsible for the change and write balanced equation for the chemical
reaction that occurs. How is this reaction different from the reaction that
oceurs when copper wares kept in open air slowly lose their shiny brown
surface and gain a coat 2 Write chemical name of the coating and state its

colour.

28. (a() Common salt is an important raw material for various cherpicals of
daily use. State in brief the method of preparation of
(i) Sodium hydroxide, and (ii) Sodium hydrogen carbonate from
common salt. Write palanced chemical equations of the reactions

that occur.
OR

(b) Design an experimental set-up to demonstrate that “Alcohol and
glucose contain hydrogen but are not categorised as acids”. Also

give the reason t0 justify this fact.

. . 29
in vertebrates known as “double circulation
of a flow chart.

" @ ‘ [ P.T.0.]

Why is blood circulation ,
‘Trace its path in the form
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A pure pea lant hawi
I having round (R), yellow (Y) seeds is crossed

geads. Hllh;:nqm-nr]-,:

30.
another pure pea plant having wrinkled (r), green (y)

177 progeny 15 self- S =

1 1 i:)‘]] ) t :1':(']]{‘ ])()Hlnﬂt,ﬂd {0 nl)t{nn [0'2 l)rng‘:fny.
14l 1 A0 + iy .

o the seeds of Iy generation look like ?

(a)
By

i > " .
Give the possible combinations of traits in see

()

ds of Fq generation.

Also give their ratio.

D4t 3 < -
State the reason of obt new combination of traits in

aining sceds of

o

(c)
Fy generation.

the far point of the eye

f vigion the person 1s
Write the type of the
the function of the

« suffering from an eye defect in which
arer than infinity. Name the defect 0
t two main causes of this defect.

d draw a ray diagram ' to show

/ A person 1
is much ne
suffering from. Lis
corrective lens an
corrective lens.

22, (a) Name and state th
carrying conductor

Consider the following three diagra

positive charge (+Q) in 2 magnetic fie
reason the case in which the force exp

(i) maximun, and (ii) minimun-
/ ’
I. '
/ Ma
ﬁQ”/;
/
Q __, Magnetic field

/"F/Q’/) Mag'netic field

111
| i " @Gl eagons for
i ‘directlonal. Give two re&
in gy flow i unl
t how h
on

31. /

RN )

determines the force on @ current

magnetic field.
ms in which the entry of a
1d is shown. Identify giving
erienced by the charge is
' 3

e rule which
placed in a uniform

(b)

gnetic field

(¥ Scanned with OKEN Scanner
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SECTION D

uestions : ;
Q 18 no. 34 to 36 are Long Answer Type questions

!
34. ) O Consider the following metals :

K, Ca, Al, Cu, Ag, Fe

Select from the above metals, a motal which

L does not react with oxygen even al high temperature.

1. reacts with oxygen at ordinary temperature and

forms a protective oxide layer which prevents the
metal from further oxidation.

III.  catches fire when kept in the open.

IV. does not burn in oxygen but the hot metal is coated
with a black coloured oxide layer.

(ii) What are am hoteric oxides ? With the help of balanced

chemical equations show that aluminium oxide is an

amphoteric oxide.
(iii) What are alkalis ? Give one example. oo 5
OR

@ G With the helP o palanced chemical equations State

process of extractin (T meroury from its ore called R

and (11) copper from its sulphide ore.

| i ly lose their shiny surfaces
P (i i d copper articles slow
(ii) Silver a::poseg to air. Name the compounds formed c»nf
I- e ) ' ‘ 0
‘;];erzlver articles, and (ID copper articles 1n the form
A 8

Jy ﬁﬂﬁnng

5

. @ ) [p_']'_‘.O-l

.@‘
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n refy 1
actio |
Vol h
ll
}‘Ili ”H'UH[(h A rectang I |
‘ nilar ¢ HER slat
rlnss slab, the

CINCTY(

aont 1y r

) ) ay s

fite v is always

cident rav.” Why 21 Va8 }‘-ll‘ﬁluf‘l to the directiorn i

. 9 IS e y J ! Oy 1 3 e >

What, h:\mwn\. 1 xplain with the help ofar | L

= < when a ray of li o vay CHAgrar

the faces of a reet n a ray of light falls normally or “"

l " “nt-ru]:”‘ o ) ally on One 01
glags prism ? Draw diagram.

(11) An objeet is plac d al I
N i ) aced at a distance of 30 ¢ ]
\,Cnh o of a concave lens of f‘m'( Inf B0, o o, £ optic2
formula to determine ‘11. (T(”'l longth 23 &% Use 8
this case. . the position of the image formed 1n
OR
(b) (1) As it wis
student wishes to study the image formation by 2 concave
s object. State the type of the
he change in the
hen the candle
e of the mirTor.

mirror using candle flame &

}mage formed by the mirror and mention
image formed, if any, that he observes W
flame 1s gradually moved away from the pol

o show the imag :on when the

Draw a ray diagram t
object distance 18 nearly equal t0 the radius of curvature of

the mirror.
r-yiew on an automobile has 2

s is located at ¢:0 m from this
d the position of the image

. or used for rea

£ 3:0 m. If a bu

focal length ©
irror formula to fin

mirrol; use
as seent in the mirror.

(i)

O

36. 5/ @) @

+21/3/3%
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(1)

VI‘I‘](\ + Ve ” \V]Sh
1I|( 0 colou 3 Li( 1re 1 )I 1
11)(1 ) l N 1 I(,(l v |l ! I ( = Y e

i) Nri

( Write the name of the
transferred to the part 1 :

Explain the process of

OR

(b) (1) N
ame the tvpe of acow
- ! e type of asexual mode of reproduction shown in th
given fguro. ot shown in the

process by which these are
abelled ag X,

secd formation in ¢ i
ieed formation in a flowering plant. 5

(1v)

(a) (b) (c) (d) (e) (H

(i)  Identify the unicellular organism in the diagram.
(iii) List any two advantages of asexual reproduction over sexual
reproduction. :
(iv) Name and explain any one mode of asexu
observed in Hydra.
SECTION E
The following questions are Source-based / Case-based questions. Read the case
carefully and answer the questions that foll.ow.. . i y .
¥ in the diagram, an electric circuit consisting 0 an ammeter, a
% /5;31’0832&1; 12 cells ofg{'5 V each, a plug key with a gap e 1‘;}1)
’ or readings were recorded in the observation table

Voltmeter and ammet

i below :
four arrangements as given :
e 1 _ only resistor R in gap XY

Arrangement No. 1 : ‘

Arr gement No. 2 — only resistor Ry in gap XY ,
ang t No. 3 - Resistors R1 and Rg in series In gap XY

e ' | d Ry in parallel in gap XY

_ Resistors Ry an
Arrangement No. 4 Res}l( Y

al reproduction
5

*31/3/3*
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Based on t]“\

figure were dy

nl\_\‘l'\]

Vationg, four v

My

-1 T . 3 1
graphs A, B, C and D as shown in

awn. Study
1 Y these graphs,
D
—~, B
®
3
=9 B
g
&
— A
O : —_—
V (volts)
a) Whi
( 1ich one of the graphs represents the series combination of Rq
and Ry ? ]
(b) Which one of these graphs represents the parallel combination of
Riand Ro? ‘ 1
(c) (1) Show an arrangement'of three resistors, each of resistance
10 Q, so that the combination has a resistance of 15 Q. Give

jusj:iﬁcation for your answer.

(¢ Gi) A pattery of 6 Visc
five resistors 0
much current would

o

" OR

onnected with a series combination of
£01Q, 020, 0-3 Q, 0-4 Q and 0-5 Q. How
flow through the 0-3 Q resistor ? Justify

9
your answer
| . Salt ‘A’ is used for
‘3( : o salts used for washing purposes.
- ;? ;fd Bl areFt’v:; test tubes L, 11, 111 and IV as mentioned below are
_bathing also-
taken. L 6N
I Rain water solution of salt ‘A
I-I Rain water 4+ solution of salt ‘B’
L Tubewell water + solution of salt ‘Al
% b well water * golution of salt ‘B
v Tube @ # [ P.T.O, 1
as1/3/3*
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]](\ ll N 1 ‘111 Cs { (SR « L
] S = & H 1 BN
) 11 ¢ hY 1 ‘ 1 I 1
l] VRO ( 3] Y "
| n o : || one ]l”l” | l‘]'l l ]

nnd the len hs & {
18 { [
g of foam formed in T Te
each test tube = noterl W
yirere

(a 11\ ol 2] I ryef
1 X ] 1 } f
) W III( l Oone ﬂl 1[](. [U\l l('Ql une
h I 'IJ" tf AT T

minimum ?
() Differenti
) iate be
. ’ tween salt A and salt B,
C (1) What are esters ? What 1
. ! 1at happens whe Zste I
an alkali (say sodium hydroxi ] i i skl TOAER T
h ydroxide 97 (3ive chemi t f
the reaction. ) ? Give chemical equation 107
OR
(@) 1) What 1 \aus
( \l;hat. is the cause of hardness of water 7 Spmetimes it is
observed that while bathing foam is formed with difficulty
and an insoluble substance is formed. Name this suhstance
and write the cause of its formation.

39. A person while climbing up a rocky hill comes into a panic state and fear.
His body starts reacting n 2 “ﬂight-or-ﬂight”
dangerous and stressful gituation.

Based on the above facts, answer the questions that follow.
ted in the blood of the person in this

o
e
1€

condition to adjust to U

-

(@ @ Name the hormone Secre
situation. 2
OR

(a) (i1) Name the source gland of the hormone secreted 1o this
;
condition - 2
(b) State any two responses in the body of the person as & resultof the
f this hormon 1

n terms of hormones

the action of the chemical signal 1
© How d9°° - 4] impulses via nerve cells ? 1

e,

i wnt mﬂ'
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